Al & 0Ol & AFSE Z Ml A
202385 20ilaF LBk XI0HCH 0t
SA XIOHCHa
M XA HBEAl Jg1=
chel: XI0HO ek 2te] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XI0HQHA! 1t 3,364,289 1,844,845 1,519,444
Jl 805,017
== 392,352
Al 2,166,920
XA = HS Al JIgta= 3,113,189 1,564,605 1,548,584
Il 624,217
< 392,352
Al 2,096,620
XIOHO 222 3,113,189 1,564,605 1,548,584
Il 624,217
== 392,352
Al 2,096,620
At dE2d 96,000 102,000 26,000
7l 76,800
Al 19,200
201 er2 3| 84,000 90,000 26,000
Il 67,200
Al 16,800
01 At2teltl 52,000 50,000 2,000
ORI HE =S 52,000
) 41,600
Al 10,400
02 S3=gHl 32,000 40,000 28,000
OXIHCtaMIE! CHUE &5 R HdE X 32,000
Jl 25,600
Al 6,400
202 04l 12,000 12,000 0
Jl 9,600
Al 2,400
01 =LHAHI 12,000 12,000 0
OXIMHtAHE HE WS 4 S 12,000
) 9,600
Al 2,400
XIOHEA & IS KR A 428,488 460,000 A31,512
Jl 342,790
Al 85,698
201 2= 43,500 55,000 211,500
Jl 34,800
Al 8,700
01 At2teltl 40,000 50,000 10,000
OXI0Het At R IHEEXIZ A 40,000
Jl 32,000
Al 8,000




2A:

X XH -
o=

XIOHQH&S ot

ANHHE S E HdLEAl JIE3=

2l XK 2ke (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A2 | 3,500 5,000 21,500
OB L JIE X9 w PT20Y 2
g 3,500
Il 2,800
Al 700
301 Eet2 NS 4,988 5,000 A2
Il 3,990
Al 998
11 AALAEIXIE S 4,988 5,000 A2
oxnzd 2Z 4,988
7l 3,990
Al 998
307 elztol & 380,000 400,000 /20,000
) 304,000
Al 76,000
01 22X &l 380,000 400,000 /20,000
Ot === NE S 380,000
Il 304,000
Al 76,000
XN 1B &AL 103,879 102,584 1,295
Jl 83,104
Al 20,775
201 er23 | 67,879 66,584 1,295
Jl 54,304
Al 13,575
01 At2teltl 67,879 66,584 1,295
OXIONZ=IIZ T ALY 67,879
) 54,304
Al 13,575
301 EtE NS 36,000 36,000 0
7l 28,800
Al 7,200
14 JIEt2 8= 36,000 36,000 0
OE=E AN = X3 36,000
Il 28,800
Al 7,200
XIOHet At H& & X2 100,000 70,000 30,000
307 el2to| & 100,000 70,000 30,000
01 22X +&H| 100,000 70,000 30,000
ORI E S A 39,200
OXIOH & & At 58,000
OXIHZ E S Atdl 2,800
XIDHRIADHS & WSS ALY 88,000 93,000 25,000




2A:

X XH -
o=

XIOHQH&S ot
ANHHE S E HdLEAl JIE3=

chel: XI0HO ek 2te] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

7l 70,400
Al 17,600

201 er23| 80,000 85,000 25,000
Jl 64,000
Al 16,000

01 At2teltl 50,000 50,000 0
OXIOHIAD A At =& 20,000
) 16,000
Al 4,000
OXION o2 CHLHERXIE At =& 30,000
Jl 24,000
Al 6,000

03 Ar=EHI 30,000 36,000 /5,000
OXINN== 2103 & X== F2LHEA 30,000
Jl 24,000
Al 6,000

301 EetE2 NS 8,000 8,000 0
Il 6,400
Al 1,600

11 AALAHIXIES 8,000 8,000 0
OXIOHQADN ALY =& 8,000
7l 6,400
Al 1,600

XoHXIE2teld] X (HEAY) 603,618 635,200 A31,582
= 392,352
Al 211,266

308 AXIHSOIA 603,618 635,200 A31,582
= 392,352
Al 211,266

11 S| 2SO0 UeZB XA AIE 603,618 635,200 A31,582
OXIHXIZ2eld] K& 603,618
== 392,352
Al 211,266

NS QAEH SSAtY N2 100,000 100,000 0
Il 50,000
Al 50,000

307 elzto| & 100,000 100,000 0
Jl 50,000
Al 50,000

02 2B YA R E £ 100,000 100,000 0
OXIMNAH AR A X 100,000
) 50,000
Al 50,000




SA: RIDHOHAI D}
Hu: RONARYE AVTAl 7S

TITOBAL - O

2l XK 2ke (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSA =R SS=H KA 1,404 1,821 N7

Jl 1,123
Al 281
201 Let=Eh] 500 821 A321
) 400
Al 100
01 AtR2t2|HI 500 821 A321
OSSN SE=AH XA 500
Il 400
Al 100
301 2PEN=S 904 1,000 YANS§
J| 723
Al 181
14 IIEt2 83 904 1,000 A9
OSSN SES=A XA m4
Jl 723
Al 181
XX 2cldl 2 X3 AL 1,440,000 0 1,440,000
307 @I2t0| & 1,440,000 0 1,440,000
01 22 +=H] 1,440,000 0 1,440,000

ESHAS 120% =1t
=

XIOH CH&A ._@—‘?'—:.1 A& 1,440,000
XIOHEHA SSHE XI& At 140,000 0 140,000
307 212t01™ 140,000 0 140,000
01 =S| 140,000 0 140,000

OXIONEX ==sMHE N2 HE 140,000
Bia2IXI0hetkt =7 * 25 10,000 0 10,000
307 212+01™ 10,000 0 10,000
01 2= +=H]| 10,000 0 10,000

Ozl QYER P& dx8 X 2=H| 10,000
XoH2tel At =& 1,800 0 1,800
203 2R 1,800 0 1,800
03 AIM =T AR FAIH| 1,800 0 1,800

OXIHZeIAIY =& 1,800
HY2HZHI(XI0HLHA L) 251,100 280,240 A29,140

p) 180,800

Al 70,300
IA2HH|(XI0HRt &I D) 226,000 250,000 224,000

Il 180,800

Al 45,200
NI Relg=Fall=bage: peibalall 226,000 250,000 24,000

Il 180,800




SA RI0HCHa
M HAPAZH|(XIOHAD)
CHel: Q12 2| (XI0HCHADL) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 45,200
101 @1A4H| 200,000 226,000 226,000
Il 160,000
Al 40,000
03 SR (FIH )22 UHE 4 200,000 226,000 226,000
OXIH&HE 2 200,000
7l 160,000
Al 40,000
04 HSRESS 26,000 24,000 2,000
Jl 20,800
Al 5,200
04 SR (RIH )22 BEE=RES S 26,000 7,000 19,000
ORIt e =S 26,000
Jl 20,800
Al 5,200
[2ZHI(XI0Hr ) 25,100 30,240 A5,140
J123HI(XI0feta ) 25,100 30,240 Ab5,140
201 2= 15,800 17,880 22,080
01 AtR2t2lt] 12,800 14,880 22,080
oget=ZH| 7,000
C=E il 4,800
Oul=H| 1,000
02 S3=gHl 3,000 3,000 0
(ONF=Faba] 3,000
202 04| 7,200 7,560 A360
01 =LHO LI 7,200 7,560 A360
OJl=gR=d0H| 7,200
203 HR=H] 2,100 4,800 22,700
M EAEZE =AY 2,100 4,800 A2,700
ORMEZIYR=a] 175,000& 122 2,100




